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No. of Questions : 50
UeAl B 6 ¢ 50

Time : 2 Hours - Full Marks : 200
wHY 2 gqoe , yorfar : 200

Note: (i) This Question Booklet contains 40 Multiple Choice Questions followed by
10 Short Answer Questions.

59 UE YRS 7 40 SIS 7 10 @Y ST TR ¥

(ii) Attempt as many MCQs as you can. Each MCQ carries 3 (Three) marks.
1 (One) mark will be deducted for each incorrect answer, Zero mark will be
awarded for each unattempled question. If more than one alternative
answers of MCQs seem to be approximate to the correct answer, choose the

closest one.

IRFETS RIS weal B 86 HH FT WIS B | Udd agTs g 3 ()
B BT B YAD TAd SR & AU 1 (TF) fF Prer AT g@de aia
g B UG Y BN AR aRTe Ul @ reiRe defs s @ SR
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(ili) Answer only 5 Short Answer Questions. Each question carries 16 (Sixteen)
marks and should be answered in 150-200 words. Blank 5 (Five) pages
attached with this booklet shall only be used for the purpose. Answer each
question on separate page, after writing Question No. ‘
dact 5 (dfE) &g ST wel @ SR S| yde wed 16 (QIeE) ot @7 & e
SAHT I 150-200 O] & A € wley | g9 B 59 gRds § et gy
g 5 () gt @1 € ST anawe B Ud UeH @1 SR Us AU US 9,
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Psychology | Code No. : 897

Most of the land precipitation and evaporation on earth takes place over the:
(1) land masses (2) oceans and seas

(3) poles of the planet (4) subtropical latitudes

The downstream portion of a river :

(1) generally becomes more sluggish

(2) usually has turbulent flows

(3) generally is of higher velocity, which is marked by reducea turbulence
(4) has lower discharges than do upstream portions

Which of the following is not a fatty acid ?

(1) Stearicacid -« (2) Palmitic acid

(3) Oleicacid . . (4) Phenyl acetic acid
Which of the following compounds is not an antibiotic ?

(1) Penicillin (2) Chloramine-T
(3) Streptomycin (4) Chloramphenicol

The acceleration-with which a particle moves in a straight line, according to the
law v® = 4a(x sin x +cosx),v being the velocity of the particle at a distance x
from a fixed point;is:

(1y O -. (2) 2axcosx (3) daxcosx (4) 2axsinx
It 2 4 A[} 2] 110 ey s e ol
1 3 1 315001 , then the matrix A1s:
[ 3 -4 ~13/4 3/2
() __3;’4 -—1] @) [ 5/4 —-1/2}
[-17/4 3/4 [5/4 11/4
G| Z7/4 —1/4] ® | 3 ~9/4}

If the error in the measurement of radius of sphere is 0.3%, then the percentage
error in the measurement of its volume is :

(1) 0.15% - (2) 0.6% (3) 0.9% (4) 0.03%
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8. The resistance of series combination of two resistances is S. When they are
joined in parallel, the total resistance is P. If S = nP, then the minimum possible
value ofnis :

1) 3 (2) 4 (3) 2.1 i (A; 0.89

9. Mitochondria are associated with the function of : 2
(1) cellular digestion (2) c1rculat10n ;
(3) protein synthesis (4) cellular respxrahon

10. In which parts of eyes, rods and cones are present ?
(1) Retina (2) Tris (3) Cornea ~ ° '{4) Lens

11.  Drivers detect traffic signals slowly if they are also coni?eré'iﬁg‘on a cell phone.
This best illustrates the impact of which of the following ?

(1) divided attention '(2) visual disparity
(3) selective attention (4) perceptual adaptation

afe a8 FToid el BIF TN 91 HR @ B 9] I {Wdtﬁwﬁiqﬁﬁﬁé‘lﬁ
g A s e S v e Y aofar & 7

(1) ffoa sraum™ (2) geae Ry
(3) TIITHD JAqYT (4) wrgfdiep GTQ’W

a1
12. Kroeber and Kluckhohn have suggested how many malor clasbes of definitions
of culture ?

(1) Three (2) Six (3) Nine | (4) Eleven
PR U derchEl A Aepiol @ W a3t @Y frety aRmmd gfea o € 2
(1) &= 2) & (3) = (4) TIRE

13. Abrupt withdrawal of consumption of which of the following substance from
chronic addicts can produce convulsions and delirium tremens that can be life
threatening :- .

(1) Alcohol (2) Heroin (3) Cocaine (4) Nicotine
ferafers araial & ffafae 4 @ 89-3 el & S & tans % 9
Y T FHH FAT SIS B GEHar & o fF Sfew SRew § e aren w#@
qeHdl €

(1) vepige (2) & (3) Bred (4) P
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14. Maintaining analytic framework in psychoanalytic therapy does not include
which of the following ?

(1) Even hovering attention
(2) Maintaining neutrality and ambiguity
(3) Expressitjn of affection towards the client

(4) Following rule of abstinence

wﬁﬁwm%ﬁmﬂﬁ%ﬂvnmmmmﬁﬁﬁﬁﬁrﬁmﬁwr
fafea 78 2 ?

(1) T& |F &4 (339 grafd arewr)
(2) TEReMd U4 SRYSECT §HIY T

(3) Qaefl @ Ui e B gwe A
(4) Uil & | @1 SrFuTer BT

15. The right inherent in a managerial position to give a and expect orders is

termed as :

(1) Chain of command (2) Authority

(3) Power (4) Unity of Command
ﬁﬂﬁmwﬁmﬂﬁmaﬁﬂﬂﬁvuﬁaﬁ%%%ﬁaﬂwﬁ
pEIE: |

(1) EATET fﬁts;_c«.n : (2) wiferBR

(3) @@ (4) TR BT YHTTHAT

16. Within which of the following theoretical approaches to personality is the
concept of ‘successive approximation' used for explaining the acquisition of
complex patterns of behaviours ?

(1) Behaviouristic (2) Cognitive
(3) Phenomenological (4) Psychoanalytical
frafoRan % @ affte & v Agifts suvm & ‘#fe |fFelter & dier
w1 AT e eraER & uwd B It @) @ReAr gq far oman g ?
(1) =EERaTE] . (2) FFTHD
(3) gYEWaHy (4) WHIATNUTeTS
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17. Which of the following statements are true about the. rehablhty and validity
of a test ?
A. Reliability is the proportxon of common and prlelC variance to total
variance % S
B. Reliability is the propartion of true variance to total variance
C. Validity is the proportion of common variance to total variance
D. Validity is always less than or equal to the rehablhty of test

(1) All the statements are true

(2) Only B and D are true

(3) All the statements are true except A
{(4) Only B and C are true

ﬁwﬂqﬁw%ﬁ?w:ﬁum@ﬁawaﬁwwﬁﬁw#éﬁﬁ—ﬁzﬁﬂw%?
A mﬁwﬁmwﬁmwwm% '
B. fawaaiaar o gewer # Wy WARO &7 SOd ® N

C. uen Fel YRV A IHATTE TERVN PT S & o

D. %@ﬁmﬁmmmﬂ:ﬂwﬁmmmwaﬁ%

(1) = s 9T &

(2) ®ac (B) W& (D) ¥y &

(3) (A) & BleH O HYT TG &
(4) ®ael (B) U9 (C) W &

18. What is the name of the neuron structure that typically receives signals ?

(1) Axonhillock (2) Dendrite (3) Axon . (4) Soma
Hod! B FRY B9 A Y B arell dfeT G @7 qr e §
(1) vediia fedlie (2) Swgige (3) vas (4) @

19. Which one of the following is not correct regarding "jobe enrichment" ?°
(1) Itis a structural technique for enhancing motivation level
(2) Itincreases employees’ responsibilities and autonomy
(3) It provides more opportunity for self evaluation
(4) It provides more opportunity for supervision
w1 Hara @ W H, ol 3 9 9 1o 9 T8 e ?
(1) DRV TR B g T TP A0S THAd &
(2) 7E HelRal H RrAeRat v g 3 gfg o 8
(3) IE MMH-HAFHT oy MO S W T 2
(4) T8 TR & forg oife® SawR WE™ &Rl @
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20. In the Lack's system of scoring the Bender Gestalt Test, rotation is scored when
there is a change in orientation of the axis of the figure :

(1) 45 degree or more (2) between 80 to 180 degree

(3) between 45 to 80 degree i (4) less than 45 degree

¥R TTee GOEU & b @ GBeAdT YO W guiE @1 weriwy ad fear o #
g AP B e A

(1) 45 3fer 71 g 7 g & (2) 80 ¥ 180 3fx @ Weh GAIA €

3) 45%80@1%@@&@ (4) 45 3f9 | B HT GRG 8

21. In Berry's model of acculturation, which of the following is #not included as an
acculturation strategy ?

(1) Assimilation (2) Integration (3) Separation (4) Discrimination
4 B IR Ao § fefefan ¥ § FIF S g @ wu A i 98t
AaEr? 2 ol
(1) @R (2) HUe®H (3) YNl (4) v
22. On which chromosome number the gene is located which cause Huntington's
disease ?,..,; . |
(1) Chromosome number 1 (2) Chromosome number 4
(3) Chromosome:number 17 _ (4) Chromosome number 21
5 TRz AR AR 98 ol Rerd 8IaT 8 O gAfe=Ted O S @l v 7
(1) Torgs e 1 _ (2) ORI T 4
(3) oS W 17 - (4) o W 21

23. Competence, Self-Discipline, Dutifulness, and Orderliness are facets of which of
the following domains of personality according to Five-Factor Model of

personality : .

(1) Extraversion : (2) Conscientiousness

(3) Openness (4) Agreeableness

Ffdaed @ TI-HCH WED @ IR ATEd], FSTIEEA, doegureaal  ae
qaraelT afada & &9 oFes & uge § 7

(1) afedRger (2) et

(3) wEwhEar (4) IR
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24. The correlation between a newly developed test- éﬁd "a well validated
test of a given construct was found to be .997. This shdws that the newly
developed test is : :

(1) highly reliable

(2) is highly reliable and valid

(3) is highly valid

(4) is almost a duplicate of the earlier test
WW$WWWWGWW3EWW@W® 997 ®1 HewEaH
qran AT | TE Ve SR € O wafafih odar

(1) & frege=iygar ify-S== 2

(2) @ fRvagw-gar ¢g duar sfi-g=a 2

(3) @t Juar afa-3zg @

(4) 99 & GOEVT F AT UH i &

SR
25. Which one of the following processes was studied by Sperling in his famous
experiment of 1960 ?

(1) Sensory memory (2)" Visual memory.'
(3) Long-term memory (4) Short-termmemory
mﬁm#wsozﬁmmmﬁﬁmﬁrﬁw#ﬁﬁmqﬁmww
foam e ? ‘i
(1) wafes sy @ FEE wfc‘v
(3) wrgwTorE i (4) drefprors wﬁ*f

26. Which of the followmg is not a characteristic of an effectwe counsellor ?
(1) Patience (2) Confidentiality (3) Integrity (4) Verbosity
frfafad 4 31 #19 ve Y wEEERT &1 T JE# § ?
(1) &4 (2) TR (3) gl - (4) vEESgad

27. Which electrical wave is found in the brain when the person is in "Rapid Eye
Movement Sleep” state ?
(1) Alpha wave (2) Delta wave (3) Beta wave (4) Theta wave
afey w9 g F3 IR ge Fer B sven ¥ @r & @@ @ g @’
ARess gl el @ 7 -
(1) 3BT TIT (2) ST&T T (3) drer a9 (4) ofrer <
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28. Which one of the following should not be a basis for determining training
needs ?

(1) The organization's objective and goals

(2) The tasks needed to achieve the organization's goal

(3) Successful practices existing in the organization since to

(4) The skill deficiency of the employees

frafafaa § & B9 e, ulEwr @ smawdaet & ke a1 R T8 EE
gifey ?

(1) €769 @ TLIY TAT AT

(2) WS ® e @ IR T HEARGF T

(3) ©med # ggd QA 9 waferd awer s

(4) TR B Frerd—gear |

28, Standing up for one's right while protecting the right of the others may be best
lebelled as :

(1) Carefulness (2) Assertiveness

(3) Aggressiveness (4) Conscientiousness

TR B PR B I F U JUA AWPR] @ AU arst ST B wEl o
JqHdT 7

(1) s (2) simfRer

(3) ATHTHEAT (4) FTAFTST

30. When culture is transmitted from parents to their children, the transmission
process is known as which of the following ?

(1) Horizontal (2) Vertical (3) Oblique (4) Parallel

mﬁ%m_wwmﬁmﬁmrmﬁm%ﬁ#mm%ﬁﬁzﬁ
frefafag S 9 g wo A wr ST g 7

(1) éfaw (2) Teafer (3) firds (4) THMTR
31. Who had proposed the attentional theory of neglect ?

(1) Warrington (2) Posner (3) Zeki (4) Bisiach

TN & IIIHTHS g &1 ufaaes foa- fasar or ?

(1) afmes (2) TR (3) St (4) =
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32. Which one of the following does not came in the category of behavioural
interventions for stress management ?
(1) Innovation intervention programme
(2) Assestiveness training
(3) Developing coping skills and resources
(4) Aerobic exercises
frfoiRea & & &9, yeaa-—gew & WaERWS RIS F T8 amar ?
(1) =8 Ay 9 S A=Y FRiHH
(2) wufear ufeero
(3) Do vd FAIAT BT A
(4) aramerd sPITH

33. Which of the following methods of sample selection ensures the highest level of
‘representativeness’ 7
(1) Proportionate stratified random sampling
(2) Stratified random sampling
(3) Random sampling

(4) Cluster sampling
ﬁﬁ%‘%ﬁﬁﬁﬂﬁ?ﬁﬂﬂﬂ%ﬁ?—ﬁﬁﬁﬁﬁﬂﬁ?ﬁ “gferfAfre

gHfaa s & 7

(1) Fufe—w$pa agfos ufdegd
(2) ¥RPa-AgRES TrE

(3) wigRes gl

(4) oo wiaagH

34. Which of the following is not the characteristic of prejudice ?
(1) Negative perception of people of other social groups
(2) Negative evaluation of people of other social groups
(3) Doing harm to people of other social groups
(4) Disliking people of other social groups
frafaRaa % @ 19 g@tug &) fadwar 78 2 ?
(1) SR GRS TE & ANl &1 TORIS Heael
(2) TR AHEIRNTE TF @ ARl & TGRS i
(3) TER ARG WYE @ anfl & B B
(4) TN OIS g B AN B AIHER BIAT

35. Which form of resistance is easiest for management to deal with ?

(1) Covert (2) Deferred (3) Passive - (4) Overt
gfake @ ford waou ¥ MaesT yewe @ 37§89 Ima™ Bk 8 7
(1) sg< (2) g (3) fafspa (4) 3=TgA
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36. The level of which circulating hormone in the blood is the most commonly
accepted physiological measure of stress ?

(1) Oxytocin (2) Melatonin (3) Aldosterone  (4) Cortisol
IR # fha ERAF &1 WR TAEd @1 9aiee 1Y afgd Hugvs {6 Wkl 8 °
(1) e (2) W& (3) weReE (4) wifEara

37. In computation of ANOVA for a Data set if addition of a number of scores
leads to increase in the value of MSerror then the chances of main effects and
interaction effects being significant ...................

(1) Decrease (2) Increase

(3) Remains Unchanged (4) Either Increase or Decrease

el uga W # @ Ok yraiel @ Wie oM W WERY faveer @) quiEr
MSerror & % gfg 2kt & @ ww 9w safhgroid wMEl & ARfE B @)
o A FrefofRea # @ s e £ 2

(1) = - (2) &

(3) ® wRadw =& . (4) 3f& 3reram s

38. Which of the following is not the goal of applied social psychology ?
(1) Documentation of social problems
(2) Short-term study of social problems
(3) Intervening into social problems
(4) Evaluating the effects of intervention programs
frerfaRag & & @19 arguye aifve wfasTd &1 oeg J8F & ?
(1) rfors sl ®7 JeraT |
(2) IR THARHT BT SAeqdToND HEaYT
(3) qEIfoTe FaeEnsl ¥ R
(4) IRV HEUHA B gAE BT Todi@T
39. Which undermentioned commissural fibre primarily ensures that the activities
of the right and left hemispheres of the brain would be synchronized and
integrated ?
(1) Anterior Commissure (2) Corpus Callosum
{3) Hippocampal Commissure (4) Posterior Commissure
§ W PH-¥ AR T G T8 gRiREd axdl @ B AR B
T e qrY Ml B Brag weeifae gen Hufea arft ?
(1) srradi wanfor . (2) ®Hg B
(3) fRudwuer HaiforaT (4) urg AT
40. Which factor was not considered by engineers when they were first
designing cars ?

(1) functionality (2) appearance

(3) human connection (4) visual appeal

mﬁmwmmmmﬁ#ﬁmm'wﬁﬂw 78
o1 ?

(1) fraresaa (2) SIS

(3) |rTE HEw . (4) STITHEG SHYOT
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Attempt any five questions. Write answer in 150-200 words. Each question carries
16 marks. Answer each question on scparate page, after writing Question Number.

&+ 9fa gt @ o 150-200 w1t § AR 1 gde g7 16 awt o7 21 ydtw gvT o7
T ol YO YV J¥T WET for@dHw I B/

1.

10.

Discuss the significance of transference in psychoanalytic therapy and describe
the ways to enhance it.

e fafecar ¥ e &A@ @ e AT @ gwe sere @
T pT ot B |

Define applied social psychology and describe its major achievements.
YR ARG FAIfd=M @l Ui ST T SHa yHe Saafert @1 goe
BTG |

Bring -out the major differences between qualitative and quantitative
approaches to research in psychology.

AR § IFEIE B[S ﬁaﬂqﬁmﬂaﬁsw%uﬁ@maﬁw
I |

Present on evaluation of objectivity of employees performance appraisal.
Suggest the measures to create an effective performance appraisal system.

R Froaea-gden @ axgfred @ goaied wga S| s geast
frsea-—wlen o3 & Al & Sma gy |

Describe the effects of hormones secreted by adrenal cortex.

UEIHE HIead N ST ofa-wral & wwral &7 gl i |

Discuss the strategies for maintaining organizational culture.

[ISATHS WP H F91Y 9 BT Jrerrat 3 fgear S |

Describe the theory of reliability and discuss its relevance in the estimation of
reliability coefficient.

ﬁﬁaﬂ?ﬂumzﬁﬁmmwaﬁ?aﬂﬁrqwﬁwwﬁumma%mamﬂﬁm
Ui B e g

Discuss the main proposition of psychological differentiation approach with

respect to cultur&gogmtmn relationshi
WP~ Ty & ’Fﬁﬁ?ﬁfgﬂ? faftriavor Surm @y R &1
fadem @ |

What is human factor p%ycholog} ?
HFY BRS HATT F/ T8 7

Briefly outline the main features of Rogerian phenomenological approach to
personality and its significance for counselling.

RIS & gZavuey SUTH & WY slevl gu7 WY & o §9% 9579 @) wiera o
wEifea #fw |
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&7 § 16 ud ae wE gy sifba Siv g Tl o wear & 3t sy R uw
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